Trigonometry Proofs

cos?A + sin?4A =1

a b c

sind  sinB  sinC

a? = b? + c? — 2bccos A

cos(A — B) = cosAcosB + sinAsin B
cos(A + B) = cosAcosB —sinAsin B
cos 24 = cos?A — sin’A

sin(4A + B) = sin AcosB + cosAsinB
sin(A — B) =sinAcosB — cosAsinB

tan A+tan B
tan(4 + B) =
1—-tan 4 tan B
tan A—tan B
tan(A — B) =
1+tan 4 tan B
. 2tan A OO
sin 24 = > PN
1+tan< A MULLINGAR
2 MATHS GRINDS
1—-tan< A t
cos24 = 1+tan? A
tan A To be learned
tan 24 = > for LCHL
1—-tan< A

e (0S%’A = % (1 + cos 24)

e sin?d = %(1 — cos 24)

e 2cosAcosB = cos(4+ B) + cos(4A — B)
e 2sinAcosB =sin(4 + B) +sin(4 — B)

e 2sinAsinB = cos(4 — B) — cos(4 + B)

e 2cosAsinB = sin(4 + B) —sin(4 — B)

A+B A—B
e coSA+ cosB = 2cos . CcosS .

. A+B . A-B

° cosA—cosB=—251nTsmT
. . . A+B A—B
° s1nA+smB=251nTcosT
A+B . A-B

e sinA—sinB = 2cos . sin .

It will be assumed that these formulae
are established in the order listed here.
In deriving any formula, use may be

made of formulae that precede it.
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